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#1E(TOTAL71) 2HHE(TOTAL71) &%

NRfiz K& OUT IN TOT +- OUT IN TOT +- TOT +-
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2fii |’ =tk = 36| 35| 71| #0|| 36| 40| 76| +5|| 147| +5
3fii |dtRE E8An JV)—> 391 39| 78| +7|| 36| 41| 77| +6|| 155 +13

A0 | AE 2HARA 41| 43| 84| +13|| 41| 38| 79| +8|| 163| +21
LT VA (== TN =3 2AHARA 43| 45| 88| +17|| 42| 39| 81| +10|| 169| +27

il  |FER AF H=A 46| 45| 91| +20|| 40| 45| 85| +14|| 176| +34
76 |BK FHE =<3 45 43| 88| +17|| 49| 44| 93| +22|| 181| +39
8iI | NUL\F |3 43| 45| 88| +17|| 44| 52| 96| +25|| 184| +42
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